London to Glasgow by plane or train?

The answer's easy - it's train all the way. Here are just a few reasons why.
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Plane from
Heathrow Airport

2 O O/o of your travel time connected and whole 1 40 .4 That's quite the carbon footprint for one

80% of your travel time stuck in flight mode. journey from Heathrow to Glasgow.
gC02e/KM

Train from
London Euston

9 0 0/0 of your travel time can be spent connected, 2 6 3 Our trains are a much more sustainable
°

passing the minutes however you please. mode of transport and we mean green.
gC02e/KM
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Total carbon emissions (kg) are calculated by journey distance (km) multiplied by UK GOV carbon conversion factors (kg/km) (2019) for

each mode of transport — train and plane. W E S T COAS T



